
FIRST TEAM SPORTS, INC 
Uni-Sport Series Assembly Instructions 

 

 

 

 

 

 

 

Bill of Materials 

 

NOTE: Immediately unpack all components and cross check against bill of materials. Report 
any shortages to First Team customer service at 1-888-884-6677 

A (4) ½" Lock washer I (4) ½" Hex Nut 

B (1) Extension Arm J (2) 3/8" Flat washer 

C (2) Backboard Brace K (2) 3/8" Lock washer 

D (1) Clamp Bar L (2) 5/16" x 1" Machine Screw 

E (2) 3/8" Hex Nut M (2) 5/16" Flat washer 

F (2) 4" U-Bolt N (2) 5/16" Lock washer 

G (1) 2" U-Bolt O (2) 5/16" Hex Nut 

H (1) Backboard Frame Support  



ONCE EXTENSION ARM (B) IS CONNECTED TO UNI-STRUT BRACKET, PROCEED WITH 

FINAL ASSEMBLY INSTRUCTIONS BELOW. 

 

1. Loosely attach backboard braces to extension arm using 2"x 3/8" U-Bolt, clamp bar, flat 

washers, lock washers and nuts. 

2. Remove and discard the shipping block (plastic piece) located at the backboard joint. Bolt on 

backboard frame support to the center four holes located at the top of your backboard using the 

5/16" hardware provided with the backboard. 

3. Attach desired backboard and rim placing bolts through rim, backboard and extension arm. 

Tighten with rim level to backboard and arm. Packaged in with your backboard are two black 

rubber gaskets. Be sure to place one rubber gasket between the face of the backboard and the 

rim and the other between the extension arm and the backside of the backboard. Trim gaskets if 

necessary. 

4. Attach backboard braces to side holes in backboard frame using 5/16" hardware provided. 

Bend braces to fit as necessary. 

5. Tighten all bolts. 

 

FIRST TEAM SPORTS, INC. 
902 COREY ROAD 

HUTCHINSON, KS 67501 
TOLL FREE: 888-884-6677 


